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Math 16A Midterm 1(Practice 3)

This exam consists of 5 questions. Answer the questions in the
spaces provided.

1. Describe in words, how, starting with the graph y =/, one can draw the graph
y=—-Vv2—z+1

Solution:
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2. (25 points) A bank has a saving account in why interest is compounded continuously.
If the amount in the account doubles every 30 years determine what the annual interest
rate is. How long will it take for the balance to triple? You do not need to simplify your

alnswers.
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3. Calculate the following limits. If they do not exist determine if they are oo or —oo.

(a)

lim 27" to°+1
rz—1
Solution:
Live xT4oad el = (T3l =37
n =
) ) aCaend+ ) Y
2% —> |
(b)
6% + 1
im
z——00 I + 3
Solution:
Lin. G+ Liw C o> ‘
= - = e Gt = oo
C onE)
(c)
. In(z?+1)
li
r—2 (x — 2)3
Solution:

Clm 1 (x4 ) = T ( Liva (¢ x* 4-l)) = Quls) > o

N x—>T
e (x-2)* =06
X—>» 2
s 3 -
2 octh - (*=2) = o
- , = e
(n-v)co (-2’50 Liw | Cx-2)%= &7
nt =2
Liva + e 2 s
=3 a2 (x-2)3 Aa (2t
= L PvVE
Liwm Au (e - —oa *xre L""‘/‘s ond 1S
x> " G- = waiblar £ e,

PLEASE TURN OVER



Math 16A Midterm 1 (Practice 3), Page 4 of 5

4. (25 points) Using limits, calculate the derivative of f(z) = w for x > 1. Using
this, or otherwise, determine the equation of the tangent line to y = f(x) at x = 2.
Solution:
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5. Using the method of graphical differentiation roughly plot the graph of the derivative of

the following function:
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END OF EXAM



